Cost Accounting       QUIZ Chapter 7      Name ________________________________________


"In the business world, the rearview mirror is always clearer than the windshield." --Warren Buffett

1. A purchasing manager’s performance is BEST evaluated using the 


A. direct materials price variance.

B. direct materials flexible-budget variance.

C. direct manufacturing labor flexible-budget variance.

D. affect the manager’s action has on total costs for the entire company.

2.  A favorable variance of significant magnitude



A. is the result of good planning.



B. if investigated, may lead to improved production methods.



C. indicated that management does not need to be concerned about lax standards.



D. does not need to be investigated.

3.  The following data for the telephone company pertain to the production of 450 rolls of wire during June.  Some data are missing because the costing records were lost in a windstorm.

Direct materials (All materials purchased were used.)

Standard cost per roll:    A    pounds at $4.00 per pound.

Total actual cost:    B    pounds costing $9,600 total.

Standard cost allowed for actual units produced was $9,000.

Materials-price variance:    C   .

Materials-efficiency variance was $80 U.

Direct Manufacturing Labor:

Standard cost is 3 hours per roll at $8.00 per hour.

Actual cost per hour was $8.25 per hour.

Total actual cost:     D   .

Labor-price variance:    E   .

Labor-efficiency variance was $400 U.


Below compute the missing data in the report represented by the lettered items.

4. DELAFIELD Camera Shop has prepared the following flexible budget for June and is in the process of interpreting the variances.  F indicates a favorable variance and U indicates an unfavorable variance.



Flexible
  
Variances



Budget
Price
Efficiency
Material A
$20,000
$1,000 F
$3,000 U

Material B
30,000
500 U
1,500 F

Direct mfg. labor
40,000
500 U
2,500 F


The MOST likely explanation of the above variances for Material A is that:

A. a higher price than expected was paid for Material A.

B. higher-quality raw materials were used than were planned.

C. the company used a higher-priced supplier.

D. Material A used during June was $2,000 more than expected.


What was the actual amount spent for Material B?


The MOST likely explanation of the above direct mfg. labor variances is that:

A. the average wage rate paid to employees was less than expected.

B. employees were slacking off in June.

C. the company may have assigned more experienced employees than planned.

D. management may have a problem with budget slack and be using lax standards for both labor-wage rates and expected efficiency.

5. The sales-volume variance is due to:

A.  using a different selling price from that budgeted.

B.  inaccurate forecasting of units sold.

C.  poor production performance.

D.  Both A and B are correct.
1. A purchasing manager’s performance is BEST evaluated using the 


A. direct materials price variance.

B. direct materials flexible-budget variance.

C. direct manufacturing labor flexible-budget variance.

D. affect the manager’s action has on total costs for the entire company.

2.  A favorable variance of significant magnitude



A. is the result of good planning.



B. if investigated, may lead to improved production methods.



C. indicated that management does not need to be concerned about lax standards.



D. does not need to be investigated.

3.  The following data for the telephone company pertain to the production of 450 rolls of wire during June.  Some data are missing because the costing records were lost in a windstorm.

Direct materials (All materials purchased were used.)

Standard cost per roll:    A    pounds at $4.00 per pound.

Total actual cost:    B    pounds costing $9,600 total.

Standard cost allowed for actual units produced was $9,000.

Materials-price variance:    C   .

Materials-efficiency variance was $80 U.

Direct Manufacturing Labor:

Standard cost is 3 hours per roll at $8.00 per hour.

Actual cost per hour was $8.25 per hour.

Total actual cost:     D   .

Labor-price variance:    E   .

Labor-efficiency variance was $400 U.


Below compute the missing data in the report represented by the lettered items.

A. $9,000 / 450 = $20.00 std cost/roll;   std # pounds/roll = $20/$4 = 5 lbs./roll

B. Actual lbs. = (9,000 + 80) / 4 = 2,270 lbs.

C. Mat-price var. = $9,600 – ($9,000 + 80) = $520 U

D. Flex-budget $ =  450rolls*3hr/roll*$8/hour= $10,800; 


no-name budget = $10,800 + 400 = $11,200; actual hours = $11,200 / $8 = 1,400 hr.


Actual labor cost = 1,400 * $8.25 = $11,550

E. Labor-price variance = $11,550 - $11,200 = $350 U

4. DELAFIELD Camera Shop has prepared the following flexible budget for June and is in the process of interpreting the variances.  F indicates a favorable variance and U indicates an unfavorable variance.



Flexible
  
Variances



Budget
Price
Efficiency
Material A
$20,000
$1,000 F
$3,000 U

Material B
30,000
500 U
1,500 F

Direct mfg. labor
40,000
500 U
2,500 F


The MOST likely explanation of the above variances for Material A is that:

A. a higher price than expected was paid for Material A.

B. higher-quality raw materials were used than were planned.

C. the company used a higher-priced supplier.

D. Material A used during June was $2,000 more than expected.


What was the actual amount spent for Material B?


$30,000 + 500 U – 1,500 F = $29,000

The MOST likely explanation of the above direct mfg. labor variances is that:

A. the average wage rate paid to employees was less than expected.

B. employees were slacking off in June.

C. the company may have assigned more experienced employees than planned.

D. management may have a problem with budget slack and be using lax standards for both labor-wage rates and expected efficiency.

5. The sales-volume variance is due to:

A.  using a different selling price from that budgeted.

B.  inaccurate forecasting of units sold.

C.  poor production performance.

D.  Both A and B are correct.
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